CHAPTER - 2

1. The degree of the polynomial whose graph is given below:
(a) 1 (b) 2 (c) 23 (d) cannot be fixed

2. If the sum of the zeroes of the polynomial 3x2 — kx + 6 is 3, then the value of k is:
(a)3 (b)-3 (c)6 d)9

3. The other two zeroes of the polynomial x3 — 8x2 + 19x — 12 if tis one zeroes is x = 1 are:
(a) 3,4 (b)-3,-4 (c)-3,4 (d)3,4

4. The quadratic polynomial, the sum and product of whose zeroes are -3 and 2 is:
(a) X —-3x+2 (b) X +3x-2 (c) X +3x +2 (d) none of the these.

5. The third zero of the polynomial, if the sum and product of whose zeroes are -3 and 2 is:
(a)7 (b) -7 (c) 14 (d)-14

6. If \E and —\E are two zeroes of the polynomial 3x* + 6x — 2x* — 10x — 5, then its other two

Zeroes are:
(a)-1, -1 (b) 1,-1 (1,1 (d)3,-3
7. Ifa-b, aand a+ b are zeroes of the polynomial X’ = 3x> + x + 1 the value of (a+Db)is
@152 (b) -1+2 (c) -1-+2 (d)3
8. A real numbers a is called a zero of the polynomial f(x), then
(a)fa)=-1  (b) fla)=1 (c)f(a)=0 (d) fla)=-2
9. Which of the following is a polynomial:
(a) 24k ) 27 -3x+1  (©) ¥ +x2+7 (d) 3x* -3x+1
¥

10. The product and sum of zeroes of the quadratic polynomial ax2 + bx + ¢ respectively are:

plE  mild <2 iy L2
a d

’
a a b a a

11. The quadratic polynomial, sum and product of whose zeroes are 1 and —12 respectively is
@x-x-12 (B +x-12 (©x*-12x +1 (d)x’-12x-1.

12. If the product of two of the zeroes of the polynomial 2x’ — 9x” + 13x — 6 is 2, the third zero of
the polynomial is:

3 3
(a)-1 (b) -2 (©) 2 (d) )
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1. The value of k for which (—4) is a zero of the polynomial R (2k +2) is
(@) 3 (b)9 (c)6 (d)-1

2. Ifthe zeroes of the quadratic polynomial ax2 + bx + ¢, ¢ #0 are equal, [EEEEEERE S =
then

(a) ¢ and a have opposite sign (b) ¢ and b have opposite sign

(c) ¢ and a have the same sign (d) c and b have the same sign

3. The number of zeroes of the polynomial from the graph is
(a)0 (b) 1 (c)2 (d)3

4. If one of the zero of the quadratic polynomial X +3x + k is 2, then the value of k is
(a) 10 (b)-10 (c)S (d)-5

5. A quadratic polynomial whose zeroes are -3 and 4 is
@)X -x+12 (b)) +x+12 (c)2x*+2x-24.  (d) none of the above.

6.  The relationship between the zeroes and coefficients of the quadratic polynomial ax’ +bx +c
s@atrp=S  Boatp=  @arpsS @Wa+p=2
a a a a
7. The zeroes of the polynomial x* + 7x + 10 are
(a)2and 5 (b)y-2and5 (c)-2and-5 (d)2and-5

8. The relationship between the zeroes and coefficients of the quadratic polynomial ax” + bx + ¢

is(a)a.[}=§ (b)a.[3=_7b (c)a,[5=_7c (d)a_gzg

9. The zeroes of the polynomial x* - 3 are
(a)2and 5 (b)-2and5 (c)-2and -5 (d) none of the above

10.  The number of zeroes of the polynomial from the graph is
(a) 0 (b) 1 (c)2 (d)3

11. A quadratic polynomial whose sum and product of zeroes
are -3 and 2 is
(@) X" =3x+2 (b)) X’ +3x+2(c) X" +2x -3, (d) X’ +2x +3.

12. The zeroes of the quadratic polynomial x* + kx + k, k #0,
(a) cannot both be positive (b) cannot both be negative
(c) are always unequal (d) are always equal
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. If a, B are the zeroes of the polynomials f(x) = x* + x + 1, then —+—
o

()0 (b) 1 (c)-1 (d) none of these

. If one of the zero of the polynomial f(x) = (k2 + 4))(2 + 13x + 4k is reciprocal of the other
then k =
(a) 2 (b) 1 (c) -1 (d)-2

. If a, B are the zeroes of the polynomials f(x) = 4%% +3x + 7, then —1—+l
a

7 =] 3 -3
o b — &, ' | R
(a)3 ()3 (0)7 ()7

. If the sum of the zeroes of the polynomial f(x) = 2x* — 3kx” + 4x — 5 is 6, then value of k is
(a) 2 (b) 4 (c)-2 (d) -4

. The zeroes of a polynomial p(x) are precisely the x-coordinates of the points, where the graph
of y = p(x) intersects the
(@) x—axis (b)y—axis (c) origin (d) none of the above

. If a, B are the zeroes of the polynomials f(x) = x* — p(x + 1) — ¢, then (ot +1)(B+1) =

(a)c-1 (b)1-c (c)c (d1+c
. A quadratic polynomial can have at most ........ zeroes
@0 (b) 1 (c)2 (d)3
. A cubic polynomial can have at most ........ zeroes.
(a) 0 (b) 1 (c)2 (d)3

. Which are the zeroes of p(x) = -1
@l,-1 -1,2 (c)-2,2 (d-3,3

10. Which are the zeroes of p(x) = (x — 1)(x —2):

@l,-2 b-1,2 (01,2 (d)-1,-2

11. Which of the following is a polynomial?

(a)x* =5x+3

(bNx+ %

(C)XR/Z __X+xl/2
(d)x"* +x+10

12. Which of the following is not a polynomial?

(@35> -23x+3
(b)%xa—sz—Lx—l

J2

(c)x+l
X

(d)5x* =3x++2



10.
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If o, B are the zeroes of the polynomials f(x) = x* + 5x + 8, then o + 3
(a)5 (b) -5 (c) 8 (d) none of these

If a, B are the zeroes of the polynomials f(x) = x* + 5x + 8, then a.3
(a) 0 (b) 1 (c)-1 (d) none of these

On dividing X +3x% +3x +1 by x+ 7 we get remainder:
(@)-7*+37* -3 +1
(b)n’ =37 +3n +1
(c)-n*-3x>-3z-1
(d)-7 +37* =37 -1

The zero of p(x) =9x + 4 is:

4 9 —4 -9
(a) 6 (b) Z () ? (d) 7

On dividing X’ + 3x” + 3x +1 by 5 + 2x we get remainder:

8 -8 =27 27
: b) — . d) —
(a) o (b) 7 (c) 3 (d) 3

A quadratic polynomial whose sum and product of zeroes are -3 and 4 is
(a) X —3x+12 (b) X +3x+ 12 (c) 2%° + x—24. (d) none of the above.

A quadratic polynomial whose zeroes are % and _7] is

(a) 10x*> —=x -3 (b) 10x> +x -3 (©) 10x> - x +3 (d) none of the above.

A quadratic polynomial whose sum and product of zeroes are 0 and 5 is
(a) x5 (b) Xt +5 (c) x> +x-5. (d) none of the above.

A quadratic polynomial whose zeroes are 1 and -3 is
(a) X edxs 3 (b) X +2x-3 (c) X>=2% +3 (d) none of the above.

A quadratic polynomial whose sum and product of zeroes are =5 and 6 is
(a) X' -5x-6 (b) X +5x-6 (c) X +5x +6 (d) none of the above.

Which are the zeroes of p(x) = X +3x-10:
(a)5,-2 (b)-5,2 (¢)-5,-2 (d) none of these

Which are the zeroes of p(x) = 6x* - 7x - 3 :
(@5,-2 (b)-5,2 (c)-5,-2 (d) none of these

Which are the zeroes of p(x) = X+Tx+12:
(a)4,-3 (b)-4,3 (c)—4,-3  (d) none of these



